

| |
|--|
| Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use. |
|--|

Serdica

Bulgariacae mathematicae publicationes

Сердика

Българско математическо списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.
Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

COMMUTATIVITY RESULTS FOR ONE-SIDED s -UNITAL AND SEMI-PRIME RINGS

H. A. S. ABUJABAL

ABSTRACT. Let $n \neq 1$ be a fixed non-negative integer. In this paper we prove that: If R is a left or right s -unital ring satisfying the polynomial identity $[xy - (yx)^n, y] = 0$ for all $x, y \in R$, then R is commutative. Another commutativity result is obtained for right s -unital ring satisfying the polynomial identity $[xy - (xy)^n, y] = 0$ for all $x, y \in R$. Moreover, we establish the commutativity of semi-prime ring satisfying $xy \pm (yx)^n \in Z(R)$ or $xy \pm (xy)^n \in Z(R)$

1. Introduction. In [6, Theorem 11], Jacobson proved the following interesting theorem

Theorem J. *Let R be a ring and let $n(x) > 1$ be an integer for every $x \in R$. If $x^{n(x)} = x$, then R is necessarily commutative.*

Let $Z(R)$ be the center of any ring R . In [3, Theorem 18], Herstein has generalized the above mentioned result. In fact, Herstein proved the following:

Theorem H_1 . *Let $n > 1$ be a fixed positive integer. If R is a ring in which*

$$x^n - x \in Z(R) \text{ for all } x \in R,$$

then R is commutative.

For any $x \in R$, $p_x(t)$ will denote a polynomial in the indeterminate t with rational integral coefficients, where we further suppose that these coefficients are functions of x . In an attempt to extend the above results, Herstein [4] proved

Theorem H_2 . *Let R be any ring, and let $x \in R$. If there exists a polynomial $p_x(t)$ such that*

$$x - x^2 p_x(t) \in Z(R),$$

then R is commutative.

Later, it was proved [8] that if for every $x, y \in R$,

$$xy - (xy)^2 p(xy) \in Z(R),$$

then $R^2 \subseteq Z(R)$. Recently, Bell et al. [2] studied the commutativity of rings satisfying the following properties:

(P): there exists a polynomial $p(xy)$ such that

$$(1) \quad [xy - (xy)^2 p(xy), x] = 0 \text{ for all } x, y \in R.$$

(Q): there exists a polynomial $q(xy)$ such that

$$(2) \quad [xy - (xy)^2 q(xy), y] = 0 \text{ for all } x, y \in R.$$

In [2, Theorem 2] it has been proved that a ring with unity 1 satisfying the polynomial identity (1) is commutative. On the other hand, one could study the analogous situation for a ring satisfying the polynomial identity (2). For instance, if R satisfies (2), is it true that R is commutative or $R^2 \subseteq Z(R)$. In the present paper, we study the commutativity of a ring R satisfying the polynomial identity

$$(3) \quad [xy - (yx)^n, y] = 0 \text{ for all } x, y \in R,$$

where $n \neq 1$ is a fixed non-negative integer. Also, another analogous result is obtained. Further, we establish the commutativity of semi-prime ring satisfying either $xy \pm (yx)^n \in Z(R)$ or $xy \pm (xy)^n \in Z(R)$ for all $x, y \in R$.

2. Preliminary Results. Throughout the present paper, R will represent an associative ring (may be without unity 1). Let $C(R)$ be the commutator ideal of R , $N(R)$ the set of all nilpotent elements in R , and $N'(R)$ the set of all zero-divisors in R . Let $GF(q)$ denote the Galois field with q elements and $(GF(q))_2$ the ring of all 2×2 matrices over $GF(q)$.

Definition 1. A ring R is called a left (resp. right) s -unital if $x \in Rx$ (resp. $x \in xR$) for every $x \in R$. Further, R is called s -unital if it is both left as well as right s -unital, that is $x \in Rx \cap xR$ for all $x \in R$.

Definition 2. If R is s -unital (resp. left or right s -unital) ring, then for any subset F of R , there exists an element $e \in R$ such that $ex = xe = x$ (resp. $ex = x$ or $xe = x$) for all $x \in F$. Such an element e is called the pseudo (resp. pseudo left or pseudo right) identity of F in R .

The following results are pertinent for developing the proofs of our results.

Lemma 1 ([7, Page 221]). Let $x, y \in R$. If $[[x, y], y] = 0$, then

$$[x, y^m] = my^{m-1}[x, y]$$

for any positive integer m .

Lemma 2 ([1, Theorem]). Let f be a polynomial in n non-commuting indeterminates x_1, x_2, \dots, x_n with relatively prime integral coefficients. Then the following statements are equivalent:

- (1) For every prime p , $(GF(p))_2$ fails to satisfy $f = 0$.
- (2) For any ring satisfying the polynomial identity $f = 0$, $C(R)$ is a nil ideal.
- (3) Every semi-prime ring satisfying $f = 0$ is commutative.

Lemma 3 ([2, Lemma 1]). (i) : If R is a ring such that each element has a power lying in $Z(R)$, then there is no distinction between left and right zero-divisors in R . Thus $N'(R)R \subseteq N'(R)$ and $RN'(R) \subseteq N'(R)$.

(ii) : If R is a subdirectly irreducible ring with heart H , then every central zero-divisor of R annihilates H .

Lemma 4 ([9, Lemma]). Let R be a left (resp. right) s -unital ring. If for each pair of elements x and y in R there exists a positive integer $m = m(x, y)$ and an element $e = e(x, y) \in R$ such that $x^m e = x^m$ and $y^m e = y^m$ (resp. $ex^m = x^m$ and $ey^m = y^m$), then R is an s -unital ring.

3. Commutativity of one-sided s -unital rings. Now, we present a commutativity theorem for left or right s -unital rings.

Theorem 1. Let $n \neq 1$ be a fixed non-negative integer. If R is a left or right s -unital ring satisfying the polynomial identity (3), then R is commutative.

The following lemma shows that the ring considered in the above theorem is in fact an s -unital ring. According to Proposition 1 of [5], this enables us to reduce the proof of Theorem 1 to a ring with unity 1.

Lemma 5. Let m be a fixed non-negative integer. If R is a left or right s -unital ring satisfying the polynomial identity (3), then R is an s -unital ring.

Proof. Let R be a left s -unital ring and let x and y be arbitrary elements in R . Then there exists an element $e = e(x, y) \in R$ such that $ex = x$ and $ey = y$. In (3), replace x by e to get $[ey, y] = [(ye)^n, y] = 0$. Thus $(ye)^n y = y(ye)^n$. Therefore, $y^{n+1} = y^{n+1}e$. Similarly, $x^{n+1} = x^{n+1}e$. Hence, by Lemma 4, R is an s -unital ring.

Next, if R is a right s -unital, then for any $x, y \in R$, there exists an element $f = f(x, y) \in R$ such that $xf = x$ and $yf = y$. Replace x by f in the polynomial identity (3) to get $[fy - (yf)^n, y] = 0$. Therefore, $y^2 = fy^2$. Similarly, $x^2 = fx^2$. Hence, by Lemma 4, R is an s -unital ring. \square

Lemma 6. Let n be a fixed non-negative integer and let R be a ring satisfying the polynomial identity (3). Then $C(R) \subseteq N(R)$.

Proof. Let $x = \begin{pmatrix} 1 & 1 \\ 0 & 0 \end{pmatrix}$ and $y = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$ be elements in $(GR(p))_2$ for a prime p . Then x and y fail to satisfy the polynomial identity (3). So by Lemma 2, $C(R) \subseteq N(R)$. \square

Lemma 7. Let $n \neq 1$ be a fixed non-negative integer and let R be a ring with unity 1 satisfying the polynomial identity (3). Then

$$C(R) \subseteq N(R) \subseteq Z(R).$$

Proof. Let $u \in R$ be an invertible element. Replace y by u and x by $u^{-1}y$ in (3) to get

$$[u^{-1}yu, u] = [(uu^{-1}y)^n, u] \quad \text{for all } y \in R$$

and hence

$$[u^{-1}yu, u] = [y^n, u] \quad \text{for all } y \in R.$$

Therefore,

$$(*) \quad [u, y]u = u[u, y^n] \quad \text{for all } y \in R.$$

Thus for any positive integer t the above polynomial identity gives

$$[u, y]u^t = u[u, y^n]u^{t-1} = u^2[u, y^{n^2}]u^{t-2} = \dots$$

Repeating the above process, we finally get

$$[u, y]u^t = u^t[u, y^{n^t}] \quad \text{for all } y \in R.$$

Now, let $a \in N(R)$. Then the last polynomial identity gives

$$[u, a]u^t = u^t[u, a^{n^t}].$$

Indeed, we have $[u, a]u^t = 0$, for sufficiently large t , and any unit element u . Therefore, $[u, a] = 0$. By Lemma 6, we have $C(R) \subseteq N(R)$. Thus $[u, y] \in N(R)$, and hence $(*)$ gives $u[u, y] = [u, y]u = u[u, y^n]$ for all $y \in R$. Since u is a unit element, we have

$$(5) \quad [u, y] = [u, y^n] \quad \text{for all } y \in R.$$

Now, there exists an integer $r \geq 1$ such that

$$(6) \quad a^q \in Z(R) \quad \text{for all } q \geq r \quad \text{and } r \text{ minimal.}$$

If $r = 1$, then $a \in Z(R)$. Let $r > 1$. Then (5) and (6) imply that

$$(7) \quad [a^q, y^n] = [1 + a^q, y^n] = [1 + a^q, y] = [a^q, y] = 0 \quad \text{for all } y \in R \text{ and } q \geq r.$$

By (5) we have

$$(8) \quad [a^q, y^n - y] = 0 \text{ for all } y \in R.$$

Since $r > 1$, then $a^{r-1} + 1$ is an invertible element. So (5) gives

$$[a^{r-1} + 1, y^n] = [a^{r-1} + 1, y] \text{ for all } y \in R,$$

and hence

$$[a^{r-1}, y^n] = [a^{r-1}, y] \text{ for all } y \in R.$$

Thus

$$[a^{r-1}, y^n - y] = 0 \text{ for all } y \in R.$$

By (6) and (8), we have a contradiction to the minimality of r . Therefore, $r = 1$ and thus $[a, y] = 0$ for all $y \in R$ and $a \in N(R)$. So $N(R) \subseteq Z(R)$. By Lemma 5, (4) holds.

Remark. In view of (4), $C(R) \subseteq Z(R)$. Therefore, $[[x, y], y] = 0$ for all $x, y \in R$ and thus the conclusion of Lemma 1 holds. Hence in the Proof of Theorem 1, we shall therefore routinely use Lemma 1 without mentioning it explicitly.

Now, we shall prove Theorem 1.

Proof of Theorem 1. According to Lemma 5, R is an s-unital ring. So, in view of Proposition 1 of [5], it suffices to prove the theorem for R with unity 1.

If $n = 0$, then (3) yields

$$(9) \quad xy^2 = yxy \text{ for all } x, y \in R.$$

Replacing y by $y+1$ in (9) and making repeated use of (9) gives $xy = yx$ for all $x, y \in R$. Thus R is commutative.

Let $n > 1$. By (3) we have

$$(10) \quad [xy, y] = [(yx)^n, y] \text{ for all } x, y \in R.$$

Suppose that $t > 1$ is a positive integer. Replacing x by tx in (10) gives

$$t[xy, y] = t^n[(yx)^n, y] = t^n[xy, y] \text{ for all } x, y \in R.$$

Hence

$$(t^n - t)[xy, y] = 0 = (t^n - t)[x, y]y \text{ for all } x, y \in R.$$

Putting $y + 1$ for y gives

$$(t^n - t)[x, y] = 0 \text{ for all } x, y \in R.$$

Let $m = (t^n - t)$. Then $m > 1$ for $n > 1$. Thus

$$(11) \quad m[x, y] = 0 \text{ for all } x, y \in R.$$

We know that every ring R is isomorphic to a subdirect sum of subdirectly irreducible rings R_i ($i \in I$, the index set), each of which as a homomorphic image of R inherits the hypothesis placed on R . So we may assume that R itself is subdirectly irreducible satisfying the polynomial identity (3). Hence in view of (4), (11) and Lemma 1, we have

$$[x, y^m] = m[x, y]y^{m-1} = 0 \text{ for all } x, y \in R.$$

Therefore,

$$(12) \quad y^m \in Z(R) \text{ for each } y \in R.$$

By using Lemma 1 and (4), the polynomial identity (10) gives

$$\begin{aligned} [xy, y] &= [(yx)^n, y] \\ &= n(yx)^{n-1}[yx, y] \\ &= n(yx)^{n-1}y[y, x] \\ &= n(yx)^{n-1}[y, x]y \\ &= n(yx)^{n-1}[xy, y] \\ &= n(yx)^{n-1}[(yx)^n, y] \\ &= n^2(yx)^{2(n-1)}[(yx)^n, y] \\ &= n^3(yx)^{3(n-1)}[(yx)^n, y]. \end{aligned}$$

By repeated use of the above argument, we finally get

$$[xy, y] = n^m(yx)^{m(n-1)}[(yx)^n, y] = n^m(yx)^{m(n-1)}[xy, y].$$

Hence

$$(13) \quad (1 - n^m(yx)^{m(n-1)})[xy, y] = 0 \text{ for all } x, y \in R.$$

Suppose that $H (\neq 0)$ is the heart of R and $z \in N'(R)$. Then by (12) and (13) we have

$$n^m(yz)^{m(n-1)} \in Z(R) \text{ for each } y \in R.$$

By Lemma 3 (i)

$$n^m(yz)^{m(n-1)} \in N'(R) \text{ for each } y \in R.$$

Now, if $[yz, y] \neq 0$, then (13) gives $(1 - n^m(yz)^{m(n-1)}) \in N'(R)$. Hence by Lemma 3 (ii), we get $H = H(1 - n^m(yz)^{m(n-1)}) = (0)$ which is a contradiction. So $[yz, y] = 0$ and hence $y[z, y] = 0$. On replacing y by $y + 1$ this gives $[z, y] = 0$ for all $y \in R$ and $z \in N'(R)$. Therefore,

$$(14) \quad N'(R) \subseteq Z(R).$$

Now, if $y \in R$, then by (12), $y^m \in Z(R)$ and $y^{mn} \in Z(R)$. Thus

$$\begin{aligned} [x, y]y^{2m}(y - y^{m(n-1)+1}) &= [x, y]y(y^{2m} - y^{m(n+1)}) \\ &= [xy, y](y^{2m} - y^{m(n+1)}) \\ &= [xy, y]y^{2m} - [xy, y]y^{m(n+1)} \\ &= [xy, y]y^{2m} - [(yx)^n, y]y^{m(n+1)} \\ &= [xy^{m+1}, y^{m+1}] - [(y^{m+1}x)^n, y^{m+1}] \\ &= [(xy^{m+1}) - (y^{m+1}x)^n, y^{m+1}]. \end{aligned}$$

Therefore,

$$(15) \quad [x, y]y^{2m}(y - y^{m(n-1)+1}) = 0 \text{ for all } x, y \in R.$$

Now, if R is not commutative, then by Theorem H₁, there exists an element $y \in R$ such that $(y - y^{m(n-1)+1}) \notin Z(R)$. Thus $y \notin Z(R)$ and consequently neither $(y - y^{m(n-1)+1})$ nor y is a zero-divisor. So $y^{2m}(y - y^{m(n-1)+1}) \notin N'(R)$. Therefore (15) implies that $[x, y] = 0$ for all $x, y \in R$. Thus we have a contradiction. Hence R is commutative. \square

Further, we prove the following result for right s -unital rings.

Theorem 2. *Let $n \neq 1$ be any fixed non-negative integer. If R is a right s -unital ring satisfying the polynomial identity*

$$(16) \quad [xy - (xy)^n, y] = 0 \text{ for all } x, y \in R,$$

then R is commutative.

Lemma 8. *Let $n \neq 1$ be a fixed non-negative integer, and let R be a right s -unital ring satisfying the polynomial identity (16). Then R is an s -unital ring.*

Proof. Let x and y be arbitrary elements in R . If R is a right s -unital ring, then there exists an element $f = f(x, y) \in R$ such that $xf = x$ and $yf = y$. If $n = 0$, then (16) gives $x = fx \in Rx$. Thus R is left s -unital.

Now, if $n > 1$, replace y by f in (16) to obtain $[xf - (xf)^n, f] = 0$ for each $x \in R$. Hence $xf - x^n f = fx - fx^n$ and hence $x = fx - fx^n + x^n = (f - fx^{n-1} + x^{n-1})x \in Rx$. Therefore, R is left s-unital. Hence R is s-unital. \square

Lemma 9. *Let $n \neq 1$ be a fixed non-negative integer, and let R be a ring satisfying the polynomial identity (16). Then $C(R) \subseteq N(R)$.*

Proof. Let $x = \begin{pmatrix} 0 & 0 \\ 1 & 1 \end{pmatrix}$ and $y = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ be elements in $(GF(p))_2$ for a prime p . Then x and y fail to satisfy the polynomial identity (16). By Lemma 2, $C(R) \subseteq N(R)$. \square

Lemma 10. *Let $n \neq 1$ be a fixed non-negative integer, and let R be a ring with unity 1 satisfying the polynomial identity (16). Then*

$$(17) \quad C(R) \subseteq N(R) \subseteq Z(R).$$

Proof. Let $v \in R$ be an invertible element. Replace x by yv^{-1} and y by v in (16) to obtain

$$[yv^{-1}v - (yv^{-1}v)^n, v] = 0 \text{ for all } y \in R.$$

Therefore,

$$[y, v] = [y^n, v] \text{ for all } y \in R.$$

Now, let $b \in N(R)$. By following the argument of the proof of Lemma 7 (see(5)), we see that $[b, y] = 0$ for all $y \in R$. Thus $N(R) \subseteq Z(R)$. By Lemma 9, (17) holds. \square

Proof of Theorem 2. By Lemma 8, R is an s-unital ring. In view of Proposition 1 of [5], we prove the theorem for R with unity 1.

Let $n = 0$. Then (16) gives

$$(18) \quad xy^2 = yxy \text{ for all } x, y \in R.$$

Replace y by $y + 1$ in (18), and use (18) to get $xy = yx$ for all $x, y \in R$. Thus R is commutative.

If $n > 1$, then by (16), we have

$$(19) \quad [xy, y] = [(xy)^n, y] \text{ for all } x, y \in R.$$

Let $s > 1$ be a positive integer. Replace x by sx in (19) to get

$$s[xy, y] = s^n[(xy)^n, y] \text{ for all } x, y \in R.$$

Let $k = s^n - s$. Then $k > 1$ for $n > 1$. Following the Proof of Theorem 1. (see(11), (12) and (13)), we obtain

$$k[x, y] = 0 \text{ for all } x, y \in R,$$

and

$$[x, y^k] = k[x, y]y^{k-1} = 0 \text{ for all } x, y \in R.$$

Thus

$$(20) \quad y^k \in Z(R) \text{ for all } y \in R,$$

and

$$(21) \quad (1 - n^k(xy)^{k(n-1)})[xy, y] = 0 \text{ for all } x, y \in R.$$

If $S (\neq 0)$ is the heart of R and $c \in N'(R)$, then we can prove that (see (14)) $[c, y] = 0$ for all $y \in R$. Therefore,

$$(22) \quad N'(R) \subseteq Z(R).$$

Now, let $y \in R$. Then by (20), $y^k \in Z(R)$ and $y^{kn} \in Z(R)$. Again following the proof of Theorem 1, yields (see(15))

$$(23) \quad [xy, y]y^{2k}(y - y^{k(n-1)+1}) = 0 \text{ for all } x, y \in R,$$

and

$$y^{2k}(y - y^{k(n-1)+1}) \notin N'(R).$$

So (23) implies that $[x, y] = 0$ for all $x, y \in R$. Therefore, R is commutative. \square

4. Examples. The following examples demonstrate that the restriction on the hypothesis of Theorem 1 are not superfluous.

Example 1. Let

$$R = \left\{ \begin{pmatrix} a & b & c \\ 0 & a & d \\ 0 & 0 & a \end{pmatrix} \mid a, b, c, d \in GF(3) \right\}.$$

It can be easily checked that the non-commutative ring R satisfies the polynomial identity $[xy - yx, y] = 0$ for all $x, y \in R$. Thus the Theorem is not valid for $n = 1$.

Examples 2. Suppose that D is a division ring. Let $k > 2$ be a positive integer and let

$$A_k = \{(a_{ij}) \mid a_{ij} = 0 \text{ for } i \geq j\}.$$

Then A_3 is non-commutative nilpotent ring of index 3, which satisfies polynomial (3). This shows that we cannot disregard the condition of the unity 1 in the ring.

The following example shows that Theorem 2 is not true for left s-unital rings.

Examples 3. Let

$$R = \left\{ a = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}, b = \begin{pmatrix} 0 & 1 \\ 0 & 1 \end{pmatrix}, c = \begin{pmatrix} 1 & 0 \\ 1 & 0 \end{pmatrix}, d = \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix} \right\}$$

be a subring of $(GF(2))_2$. It is easy to check that R is a left s-unital ring satisfying the polynomial identity (16) for all non-negative integers $n \neq 1$. Also, R is not a right s-unital. However, R is a non-commutative ring.

5. Commutativity of semi-prime rings.

Now, we present two commutativity theorems for semi-prime rings.

Theorem 3. *Let R be a semi-prime ring and let n be a fixed non-negative integer. If R satisfies*

$$(24) \quad xy \pm (yx)^n \in Z(R),$$

then R is commutative.

Proof. Let $x = \begin{pmatrix} 1 & 1 \\ 0 & 0 \end{pmatrix}$ and $y = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$ be in $(GF(p))_2$ for a prime p . Then (24) gives

$$xy \pm (xy)^n = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix} \notin Z(R).$$

Therefore, R is commutative by Lemma 2. \square

Theorem 4. *Let R be a semi-prime ring and let $n \neq 1$ be a fixed non-negative integer. If R satisfies*

$$(25) \quad xy \pm (xy)^n \in Z(R),$$

then R is commutative.

Proof. If $x = \begin{pmatrix} 0 & 0 \\ 1 & 1 \end{pmatrix}$ and $y = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$ in $(GF(p))_2$ for a prime p , then (25) gives

$$xy \pm (xy)^n = \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix} \notin Z(R).$$

By Lemma 2, R is commutative. \square

REFERENCES

- [1] BELL, H.E. On some commutativity theorems of Herstein. *Arch. Math.*, **24** (1973) 34-38.
- [2] BELL, H.E., M. A. QUADRI and M. A. KHAN. Two commutativity theorems for rings. *Radovi Mat.*, **3** (1987) 255-260.

- [3] HERSTEIN, I.N. A generalization of a theorem of Jacobson. *Amer. J. Math.*, **73** (1951) 756-762.
- [4] HERSTEIN, I.N. The structure of certain class of rings. *Amer. J. Math.*, **75** (1953) 864-871.
- [5] HIRANO, Y., Y. KOBAYASHI and H. TOMINAGA. Some polynomial identities and commutativity of s-unital rings. *Math. J. Okayama Univ.*, **24** (1982) 7-13.
- [6] JACOBSON, N. Structure theory of algebraic algebras of bounded degree. *Ann. of Math.*, **46** (1945) 695-707.
- [7] JACOBSON, N. The structure of rings. *Amer. Math. Soc. Colloq. Publs.*, **37**, 2nd Ed. Amer. Math. Soc., Providence, R.I., (1964), (Revised Ed. 1984).
- [8] PUTCHA, M.S., A. YAQUB. Rings satisfying polynomial constraints. *J. Math. Soc. Japan.*, **25** (1973) 115-124.
- [9] TOMINAGA, H., A. YAQUB. A commutativity theorem for one-sided s-unital rings. *Math. J. Okayama Univ.*, **26** (1984) 125-128.

Kingdom of Saudi Arabia
Ministry of Higher Education
King Abdulaziz University
Faculty of Science
Mathematics Department

Received 28.05.1991